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|[E/IEHUE NOTAPUOMA
* TTIPEOBPA3OBAHUA /IOTAPUOMOB

* IOTAPUOMUNYHECKAA PYHKLNA

* IOTAPUOMUYECKUE YPABHEHUA

* IOTAPUOMUNYECKME HEPABEHCTBA

* CUCTEMbI /IOTAPUOMUYECKMUX YPABHEHUN U
HEPABEHCTB
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PPAUMOHA/IbHBIE YPABHEHWMA e
*TNOKA3ATE/IbHbIE YPABHEHUA

* APOBHO-PALUMOHA/IbHbIE
YPABHEHWA

“*TPUTOHOMETPUYHECKNE YPABHEHUA
YECKUE YPABHEHUA




- MPOCTEALUME YPABHEHMS, PELUAEMbBIE IO e —
OMPEAE/IEHUIO,

* YPABHEHWA, PELLUAEMBIE 1P1 TTOMOLLMN
[IOTEHUMPOBAHMUA,

“ YPABHEHWA, MPUBOAUMBDIE K KBAAPATHbIM,
KYBUHECKMM U T.A.

“ YPABHEHWA, PELUAEMbIE /IOTAPUPMUPOBAHUEM
OBEMX YACTEW APABHEHMA,

bIE TPAOUYECKMM CMTIOCOBOM
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675. Haiigure kopens ypasnennd: log,(3-x)=3.
676. Haitnure kopens ypasuenud: log,(6-1)=9.
677, Haiinume kopers ypasrenua: log,(6+x) =8,
678. Haitnure xoperb ypasrerna: log,(1+ x) = log, 2.

679, Haiigure kopens ypasrenug: log, (16 - x) = log, 2.
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1019. Haitnure xopens ypasrenud: log,(-1-x)=1.

[

1020, Haitnure xopens ypasrenud: log, (-3~ %) = 1. B
1021, Haitnure kopenn ypaBHernd: log,(4-x)=3.
1022. Haitnure xopers ypasrerud: log, (5 +x) = 3.

~ 1023. Haitnure xopens ypasrerus: log,(-5-x)=1.
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~ 678, Haiigurre nopens ypashemnst log,(1+x)=log. 2. °

679, Haitnure xopexs ypesrenna: log, (19 -x)= log, 2.

680, Haitgmre xopers ypasnerns: log,(17-x)=log 13,
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= BS pewe ypastenue 10g;(7 - x) =log;(3-x)
ﬂ_' Haiiure kopenb ypaBHeHus logy(=2-x) =2

BS | Haiiure kopens ypaBHenns log, (=1 = x) = 1

*f BS pewnre ypaswerue log (x* +2x) = log, (x* +10).

| . e
Bs | Haiimire kopens ypashenns log, (x+3)=log,(dx=15). =
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